AELOTNT-NAF BU29 Gm 150

1 Gmin Gmin7 Cmin Cmin7 D7/9 Gmin Gmin9
O = f f N N
A 5 o — I r 4 " Y 4
| a0 WA/ o b Iz rY f D = ry
AN3V ® o = < 4' p= <
D -
Gmin Gmin7 Cmin Cmin7 D D7/9 Gmin Gmin9
[a |
Y D N N N
y . I Y 4 Y 4
[ £a0 [ ry r
é AY -~ AY
: < - h <° -
F n 3 F n % H < % F D0 %
Gmin Gmin7 Cmin Cmin7 D D7/9 Gmin Gmin9
[a |
Y D N N
y . Y 4 Y 4
[ £0 N =
pu— .6 pu— pu— —T. p—
>
- ¢ 0 - £ P 5
Gmin Gmin7 Cmin Cmin7 D D7/9 Gmin Gmin9
O — . < . 5
y . i I I r 4 I — Y 4
[ £0 p| [ rY [ 1 r
w é -~ A Y ry é —] é é €
—~— & h &
3§}min Gmin7 Cmin Cmin?7 D D7/9 Gmin G7/9
— i . ; — <
y . [ — K= I I Y 4
[ £0 1 p= P Y7 m | i D = ry
bt I p= p= ! €
I \—/' 11 11
T b D & L T [q &E T % N v L n
Cmin7 Cmin7 Cmin?7 Cmin7 Gmin7 Gmin7 Gmin7 Gmin7
[a | | |
S — - — 2 il - z - il -
O—F H - € H I H S
[Y) [ [ [ [ T [
t n I [ h A h 1z L
D7 D7 D7 D7 Gmin7  Gmin7 Gmaj7  G7/9
A 149 | | | ,
7” | Y ] e ¥
T e @ e 1z = E I A
Al 1T il I I |
L & h T & 5 2 (7 - )
Cmin7 Cmin?7 Cmin7 Cmin?7 Gmin7 Gmin7 Gmin7
Q ! lD N\ N\
y S - o = 5 ¥ ¥ 2 [} P o
| o WA . e o e ¢ @ I et D P20
SV T —1 I 7 S S— T T
Y] [ — [ |4 [ I [
& G [ & n ! (A
D7 D7 D7 D7 Gmin7 Gmin7 Gmin7 Gmin7
A (65 | |
2” . s — — Y
v 0 i i 4 =0 = e
» B OL W Z i D A Fr D &£
3Gmin Gmin7 Cmin Cmin7 D D7/9 Gmin Gmin9
7
O ) lr) f f N N
y Y P [ Y 4 " Y 4
(& e e e 2 - s—=
— &
-
Gmin Gmin7 Cmin Cmin7 D D7/9 Gmin Gmin9
[N
YD : N N
y Y I Y 4 : Y 4
[ a0 N I ry f ry
A é AN | -~ AY
: = > b = =
F hH 3 F h % n < % F h %
Gmin Gmin7 Cmin Cmin7 D D7/9 Gmin Gmin9
[N
YD N N
y Y Y 4 Y 4
[ £ N & &
D) s - -
—] * = —] —] —] —1 —]
k4 f . 5 -&
nH N T h T T = - £ 0 0 B




Gmin9

Cmin Cmin?7 D D7/9 Gmin

Gmin7

Gmin

, 97

Li

AT ~E AT A (R

-
Ly

n

0
[ £ar N

» N

._c

2

¥ Br

%)

(&

G7/9

Gmin

D7/9

LL
o

Cmin7

1Y 7

Cmin

Gmin7

Gmin
; 105

[ a0 N

Ly

TJ

t ¥ ¥ B

T N

Gmin7 Gmin7 Gmin7

Cmin7 Cmin7 Gmin7

Cmin7

Cmin7
; 113

R

o

R

L

T

e
Q
~
O QL
S
o]
(S .
O QO
v
Q|
~ .-||
£
g
O QL
~
£
(S .
O Q|
o]
7 —3
a
~
(@]
B =
MG
~
A
B =
~
Ao
N
—
-
Jen
AHUA

4

T T F I T

0}

7;

)

Gmin7

Gmin7

Gmin7

Gmin7

Cmin7

Cmin7

Cmin7

=X

Cmin?7
; 129

Gmin7

Gmin7

Gmin7

Gmin7

D7
|

D7

kL

D7

D7
137

)2

Gmin7

Gmin7

Gmin7

Gmin7

D7

D7

D7
| 145

7



